









#4

Mgmt 380

Assignment #3

20 points

DUE:  Wednesday, February 22, 12noon

(If you are not normally on campus on Wednesdays,

you will need to turn it in on Tuesday the 21st)
Boom-Boom Claims Processors is a company that processes automobile insurance claims for large national insurance companies.  Most claims processing is done by a large pool of permanent and temporary computer operators.  A permanent operator can process 16 claims per day, while a temporary operator can process 12 per day.  On average, the company processes at least 450 claims each day.  The company has 40 computer workstations.  A permanent operator averages about 0.5 claims with errors each day, whereas a temporary operator averages about 1.4 defective claims per day.  The company wants to limit claims with errors to 25 per day.  A permanent operator is paid $64 per day and a temporary operator is paid $42 per day.  The company wants to determine the number of permanent and temporary operators to hire in order to minimize costs. 

Create a linear programming model.

Solve the model in each of the following ways:

· Graphical method

· Software method (using STORM)

Report the following:

· Optimal solution  (do not round the values)

· Explain what the shadow prices(s) tell the company

· Explain what the slack/surplus values tell the company

As always, follow all the instructions on Handout #1.

